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SN FH-SA(EN) - MBAY - BES 0l &t o p/E-E" HlnE2
ge2 3,616,269 2,563,795 1,052,474
= 1,091,000 1,091,000
Al 2,525,269 2,563,795 A 38,526
HMAN S| (L3 /YBHEA) 1,949,912 877,928 1,071,984
dH=SH - dE42 Y2
= 1,091,000 1,091,000
Al 858,912 877,928 219,016
[dg2 du 2 EHOt 1,184,020 97,380 1,086,640
MBSt A7 2 I:iE=I " ”%g
gofdE SHEX 3 M
= 1,091,000 1,091,000
Al 93,020 97,380 A 4,360
2L 2el 55,540 56, A 1,340
201 Bt Al 24,590 25, 21,290
01 At 22|l 24,590 25, A 1,290
Altel QI2FEIE MAF =2 B
2 & 10,710,000 10,710 12, A 1,290
203 ¥R =&l 950 1, A50
03 AIHZ=AHRFZH]| 950 1, 250
ditzel & SEd2eAAH 2H2H
= B2 2 950,0 950 1, A50
TP It 1,122,300 34,000 1,088,300
= 1,091,000 1,091,000
Al 31,300 34,000 A2,700
201 Bt 106,400 32, 74,400
£ 77,000 77,000
Al 29,400 32, A 2,600
01 AtR2teltl 106,400 32, 74,400
FRESEI NE Hxg(RHad) oM &
Z & 6,400,0 6,400 9, A 2,600
oSyl NEYYR 93s
238 65,000,000& 65,000 20, 45,000
= 45,000 45,000
Al 20,000 20, 0
o2 BIOIKNE E2A =3 1=s 32,000 32,000
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203 ¥Rl 1,900 2, A 100
03 AIZ=XH2 =AY 1,900 2, A 100
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NSXAH SSE LM Ao 1,000,000 0 1,000,000
N7 SSH4ST HE 1005 G2
e 50,000 0 50,000
s 50,000 0 50,000
S HOIYANY s+AE F 50,000 0 50,000
s 50,000 0 50,000
AT PHA LEDEHS DAL 50,000 0 50,000
s 50,000 0 50,000
SUET PHA LEDEHS DAL 50,000 0 50,000
s 50,000 0 50,000
SH? 2YNE PAUIAE SIANY L
Mg zouy 50,000 0 50,000
s 50,000 0 50,000
47 850 LT AL XM 100,000 0 100,000
s 100,000 0 100,000
ST 020IBY S0AES AL 100,000 0 100,000
s 100,000 0 100,000
HEHT 40H=0SHE A 50,000 0 50,000
s 50,000 0 50,000
ATER CHNS Z2Y A5 250,000 0 250,000
s 250,000 0 250,000
2T BFNY LV OS2 T ISM
o 100,000 0 100,000
s 100,000 0 100,000
£YT FYANHTE FY AYCE Y& 150,000 0 150,000
s 150,000 0 150,000
405 Xt&HFHSHI 14,000 0 14,000
s 14,000 0 14,000
01 HAUSEH S 14,000 0 14,000
NXH BSBI MM BIOAIAEY 75 14,000 0 14,000
s 14,000 0 14,000
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AH 2,280,000% 2,280 2,500 ~220
203 YL =EHI 1,900 2,000 A100
03 AIBETYQETY| 1,900 2,000 2100
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Z& 1,550,000 1,550 3,000 A 1,450
203 ¥R =&l 950 1,000 A50
03 AIHZ=ZHR A 950 1,000 A50
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2 & 950,000& 950 1,000 A50
ANE 22 &5 23t 754,412 767,568 A 13,156
AMXE 1 EHOIX O AEE
gdofdE SHEX 177 %
AOIH AIE &4 754,412 767,568 A 13,156
201 e+ 706,028 718,438 212,410
01 ArR2eltl 235,910 248,320 A 12,410
a™2y =
B 127,590,000 127,590 140,000 A12,410
405 XHoHFE SH| 37,184 37,930 AT46
01 AR =S HSHI 37,184 37,930 AT46
DHE EHOIXN A8 AH 7 2
2 & 37,184,000 37,184 37,930 AT46
EEL =2 SHMA L Ze(Ler3 ST /ABEH) 1,204,133 1,221,313 A 17,180
dU=H  SHEIAMS S € 225 M1
M2d UAs SH o 1,204,133 1,221,313 A 17,180
dUXNE 1 45 SHEIMN A
gofde 2 EX 7 A
KA SH 4t 758,588 774,588 216,000
201 et 654,190 669,590 A 15,400
01 At 22|l 646,190 661,590 A 15,400
NASHMNY A=A 2
Z & 64,600,000 64,600 80,000 A 15,400
203 ¥R =&l 1,900 2,000 A 100
03 AIHZ=AHLFZH] 1,900 2,000 A 100
AESH 2 RN B 2 & 900,000& 900 1,000 A 100
301 ZetEL = 9,668 10, 168 A 500
10 SMAHIEAS 9,668 10, 168 A 500
NASHZA AR W 34 W3 2
2 & 6,500,000 6,500 7,000 A 500
SHAHE L2t 22,460 23,640 A 1,180
201 e+ 22,460 23,640 A 1,180
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12l 106,121 108,451 2,330
Jl= 2l 106,121 108,451 2,330
Uste Ay 29,700 30,640 A940
AR 2l b 29,700 30,640 A940
SN2Y JI=48H B2 FX 17,860,0002 17,860 18,800 A940
ol bl 72,431 73,611 A1,180
2L 01 I 72,431 73,611 A 1,180
oo EEOH H2 2A 22,511,0002 22,511 23,691 A 1,180
AR E Y| 3,990 4,200 ~210
SNSLAREAY| 3,990 4,200 ~210
SNSHAREAY B Z & 3,990,0008 3,990 4,200 ~210




